@f I Compact vertical Decomposition

23454 + 596 23.7 + 48.56 ] 2748 — 364 72.5-45.73
6 1 6 11 14 1
23454 23.70 2748 7Z.80
+ 596 +48.56 - 364 -45.73
24050 72.26 2384 26.77
—— T 1 -
Using a number line: 63 + 28 =91 Using a number line: 74 - 27 = 47
+20 +7 41 +30 -2 ‘Taking away’ ‘Counting on’
T | A e

63 8 90 9 63 91 93 47 50 54 74 27 30 70 74

Long multiplication O Division
5172 x 38 S 564 + 13
© 43.38 M
5172 13[5 64 .00 vy [ETE
. 38

41376 o
+ 15%2:5]_60 564 + 13 : 20 | 260

196?36 =43r5=43 3 43.4 (to 1dp)

Using known multiplication facts: Using a number line:

+50 +20

43 x 6= (40 x 6) + (3 x 6) = 258 72+5 =14r2 ) ﬁ

0 50 70 72




